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Final Exam Review

r

Polynomials
1. Simplify 2. Simplify oY
«(2 ?x)me}g) (3p—7F))(3p+4) FoM Q(MU\AOC)
-5x ~HX*H bx 5¢ 4
é‘— X 3¢ |2 l2e
o= T s -af
\/x +10x * X\\ =i
TR
| qp>-ap-25 |
@Simplify 4. Simplify

(6-3x*)+(x* —x+5)

\& 3 %= Y

—2n*(n* —3n+4)

| .
E)vx5+(amq~?\/\ }

'5.)Simplify
(-3x+2y)* =

(-2% tay) (—5&%

6. Simplify
(n4 +2n—1)+(5n—n4 —-4)

-S4

2| W2 =1 £ 50 o T-Y




(’7. Simplify
(4x+3)(2x+1)

x> THYX +0Y +3

(374 10x+3)

8. Simplify
(4h* - 5)(SH* - 6)

&qu—*&)qh&-QShQ«fj@
sl 1
a0k -49h"+30]

(2x* -3x-3)} (46x° ¥3x+8) N(jomw

9. Simplify 10. Simplify T Pistmbote
(2%° +4x2 +1)(x—4) uy (-4x>+5x-8)4(+X*F3x+6) arnve TO
- Seand parendineg
NAFGE TS . .
ux* x| -lox?] [-3r>+ax- 1Y
Lx =4
3

f;zy‘ﬁqx ~ [ aﬂﬂ
|
11. Simplify DIShhbute_ 12. Simplify

Q2x° +4x* +1)(x—4)




Find the Sum, Difference, or Product of each:

(Bearnr (30 v20) (20t2)) - a
9a*t+9ab r9ab T Lo = da~ +1falbt4 b]
46.Qur+2" Qe +ar) (dvar +¢)
Hm>r 2t 2mcd +ame +élf9 T wara+qmra+§ﬁ
@ + 6x3)+(6x’@+-
19 X% (y+ \Ax
48. (4n — 3n°) 4 (3n° + 4n)
~bn’
49. (3 — 6n° — 8n) 4 (46n* £ 3n 4 8n%)
an-an'+3n+3
50. 3x4- (2x* 3x° £ 8x) _
-2y 2> +I[ X sl s
51.(6a+3aby  ( UO\'(—BQDB ( L +3ado) iy e M
3402+ (g b T 13076 +70°D
52. (4 -8)2¢-3) gy ~1Ax> <l x> 4 QY
@‘ —29x>+aul
53.5x 4 (3x3 + 2x* - 4x + 9)

e e ads

@ Simplify the expression (3x%y™)?
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Final Exam Review

Exponential Functions

Hour

Identify the graph as exponential growth or exponential decay. Then find the domain and range.
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5.y = 4.5 (.95)* 6. y=13% (\;)
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7. Looking at the equations in # 3-8, which equation shows the greatest growth? Explain.

#Y hasTue greaeti Jroustn o
6c S wwuua S gl Thowt T O%e/)/

8. The population in 2012, of a small Upper Peninsula town was approximately 2,500. The .
following equation can be used to model the change, g(t), over time, £, in years: g(f) = 2500(1.15)"

a. What does 2500 represent in this situation? e Sm(hM POQ\) \Ckh g
@ What does 1.15\represent in this situation? m qm\j\)ﬂ/\ K’O&Qﬁ’

c. Is the population increasing or decreasing? \V\ue &(\V\% h@CC(,U ;( f{.( 5> \

d. What will be the predicted population in 20207

IO — 2A0(>-= ;
qu) = 2500 ((1.1S)
A 1d1.5

A 2090, o6 will be abodt”
e TLUY peopt—



[
@. A certain stock is worth $42 at the beginning of the day. Every hour the stock goes down by 5%.
a) Can this information be represented by exponential growth or decay? Explain.
<caé W Causk Sa\ﬁS Stoc_
dowun

b) What'is the growth or decay factor for this information? Explain how you found it.

2 T ,0% |-.05 = A5
(@]

c) Write an equation to model this information. Explaln what each part means.

= 42 (45
. (9% s

syt a S’_('dmvl"’ &Md’l)f

d) How much will the stoc'k(%gl worth in 8 h'gEl}rs? Show work.
&
\= 42(.9 S)
= 277.%w

Twe Soct witl he Lo
$27.90 n ¢ hours

10. A dust bunny gathers dust at a rate of 11% per week. The dust bunny originally weighs 0.7 oz.

a) Write a function that represents the weight of the dust bunny at a given time. Use x for weeks
and y for the weight of the dust bunny.

Al

\OD ~ \[:,7([{0)(

=N

b) Find the weight of the dust bunny after 7 weeks.

4= (1)
\ =

TWL st burug il wegin
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Final Exam Practice Test #1

Use the graph of cell growth to answer questions 1 —4

Cell Growth

1. The graph represents a...

a. Linear equation —
’Exponential growth equation
7 Quadratic equation

d. Exponential decay equation o

)
'§25{]000
2. Identify the domain of the h: =
) 1fy(0 oo)om 0 grap S 200000
b (10000, ) §‘ Lz
c. (-00,0) :_;,:
d. (0,5) i
3'100000
3. Identify the range of the graph: .
a. 0, ) 50000
(10000, )
R $s 1 ¢ 3 .1 5 s
£ ekl it time (days)
(
4. hat is the initial population of cells?
0 cells Omsuect

b. 10,000 cells
c. 350,000 cells
d. Cannot be determined from looking at the graph.

Use the graph of cell growth to answer questions 5 — 6

5. Identify the domain of the graph:

. A (0,)
(-OO, 00)
(o0, -0)
d (-2,7)

-]
Roed

Lo
o

40 :
6. Identify the range of the graph: ; / :

(&) (0, ) P I
V4

b. (o0, -00)
c.. (20, ) LA .
d. (0, 100) ‘;f..-j' ¥ 2083 458 9789 10,.1:-

S ‘MathBits.com

7. Which of the following equations represent exponential
growth?
a. f(x)=3.2 (.8)* because .8 is less than 1.
b. f(x)=3.2 (.8)* because 3.2 is greater than 1.
y = 1400(1.05)* because 1.05 is greater than 1.
.y = 1400 (1.05) because 1400 is greater than 1.



8. Inthe exponential equation, y = 3800(1 — 0.12)" identify the following:
a. Growth/Decay factor= 4

b. % of Growth/Decay = \D-Gfe
c. Initial amount = %?0 @)
d. Value fory whenx=10,y= \OS? . ?)

e. What does 0.12 represent in the equation? . (\CO‘
: onhve
Twe toue of decony O 0 S

9. Your allowance your parents gives you increases at a rate of 10% per week for 8 weeks. You started
with an allowance of $15.50, which equation represents this situation?

a. y=15.50(10)® _
b. y =15.50 (0.90)° oo = (10
c. y =15.50(.10)® -
(&) =15.50 (1.10y 1+.10 = (.10
10. A stock is worth $40 at the beginning of the day and decreases at a rate of 8% hourly. Identify the
growth/decay factor that would be used in an equation.
a. 40 %
b. .08 __’.60 = O g
.92 ,
7 1.08 = D= §i-

11. Find the value of the stock from question #10 after 11 hours.
@ 15.99 | \
b. 34E-11 \N= QD(,G[ZS = |5, q7
c. 1.7E19
d. 93.27

12. A population of a town in 2014 was 88,345 people. The town’s population increases at a rate of 5%
each year. What will be the population of the town in 2024?

10
B 143901 202y = $%34T( ,05)

c. 4417 - 201+

d. 92760 B v = 43908
13. From question 12, identify the...

a. Initial amount= § § 3 Y ?

b. Percent growth/decay = 50/ o

c. Growth/decay factor = \gog—

d. Valuefortimein2024= (O

The population of various animals can be written in the form of a function to determine increase in
population over time. Based on the table, which animal’s population increases most rapidly?

a. Rabbit Animal Function
Mouse Rabbit p(t) =400(1/3) |~ Decoy
c. Bird Mouse p(t) =3 ~Greusta
d. Goat Bird p(t) =10t - tinew”
Goat p(t) =2 - Growil

Betwtah WMot & fout, MoUe”
Inces fosker” hecause S o
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Exponent Properties Study Guide
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